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TEST 2: PART 1: MULTIPLE CHOICE - SELECT THE BEST ANSWER FOR EACH QUESTION! 2 PTS EACH


1) The primary ossification center occurs in which region of a long bone? 

a) epiphysis
b) metaphysis
c) articular cartilage
d) epiphyseal plate
e) diaphysis



2) The type of cartilage that makes up your articular cartilage is ______________

a) hyaline
b) elastic
c) dense irregular
d) fibrocartilage



3) Which of these bones is formed by endochondral ossification?

a) sternum
b) thoracic vertebrae
c) ribs
d) most of the cranium
e) scapula



4) Which of these bones would be composed mostly of spongy bone versus compact?

a) parietal
b) tibia
c) radius
d) ulna
e) humerous



5) The inner membrane that lines the medullary cavity is called the ______________

a) perimysium
b) endomysium
c) endosteum
d) periosteum
e) meriosteum



6) The cells filled with lysosomes that would be activated by PTH are ________________

a) osteoblasts
b) osteoclasts
c) osteocytes
d) osteogenitic



7) Bone cells are located on "rings" called ____________ in an osteon.

a) canaliculi
b) lamella
c) lacunae
d) trabeculae
e) haversian canals



8) Intramembranous ossification is the production of bone from ___________

a) elastic cartilage
b) adipose resiuals
c) fibrocartilage
d) hyaline cartilage
e) fibrous connective tissue



9) Which of these areas would be responsible for WBC production in ADULTS?

a) epiphysis
b) epiphyseal line
c) diaphysis
d) articular capsule
e) medullary cavity



10) Which of the below structures reduces friction between bones?

a) articular catilage
b) the epiphyseal line
c) the osteon
d) diaphysis
e) red bone marrow



11) The suture that separates the parietal and occipital bones is the _________

a) coronal
b) lambdoidal
c) temporal
d) sagittal
e) posterior



12) The superior portion of the sternum is known as the ____________

a) xiphoid process
b) body
c) mastoid process
d) manubrium
e) intercalated disc



13) The bone marking on the scapula that articulates with the clavicle is the _________

a) spine
b) glenoid fossa
c) corocoid process
d) acromion process
e) coronoid process



14) Which of these bone markings is not on a cranial bone?

a) foramen magnum
b) external auditory meatus
c) mastoid process
d) dens
e) sella turcica



15) The movement caused by the contraction of your rectus femoris that DECREASES the angle between bones would be _____________ of the thigh.

a) extension
b) flexion
c) abduction
d) adduction
e) rotation



16) Sticking your tongue out at me (for a reduction in grade) would be ___________ and pulling it back in (to not have your final lost) would be _____________

a) pronation; supination
b) protraction; retraction
c) supination; protraction
d) retraction; pronation



17) Which of the movements can NOT be produced from a condyloid joint?

a) extension
b) flexion
c) abduction
d) adduction
e) rotation



18) The time it takes from when the neuron motor releases Ach until calcium reaches troponin is known as the ____________ of a muscle twitch.

a) contraction period
b) refractory period
c) recovery period
d) latent period
e) wave summation period



19) The bone marking that houses the pitituary gland is the _____________

a) crista galli
b) sella turcica
c) the superior ethmoid sinus
d) magnum foramen
e) greater trochanter



20) Which of these bone markings/structures of the humerous articulates with the radius?

a) greater tubercle
b) deltoid tuberosity
c) olecranfossa
d) capitulum
e) trochlea



21) The temporal process is located on which of these bones?

a) sphenoid
b) temporal
c) zygomatic
d) ethmoid
e) occipital



22) The lateral malleolus is located on what bone?

a) tibia
b) radius
c) femur
d) scapula
e) fibula



23) Which of these bone markings are located on the macilla?

a) foramen magnum
b) mental foramen
c) tranverse foramen
d) infraorbital foramen
e) none of the above



24) The greater sciatic notch is located on which of these bones?

a) buttus ubiquitous
b) ileum
c) ishium
d) pubis
e) maxillae



25) Which of these is the next LARGEST sized structure to myofilaments?

a) muscle fiber
b) myofibril
c) fascile
d) muscle belly
e) sarcolemma



26) Which of these statements is FALSE about muscles?

a) muscles shorten when they contract
b) asynchronously fired motor units delay fatigue
c) cardiac muscle is multinucleated (vs. uni or binucleated)
d) muscles have the ability to receive electrical stimuli
e) recruitment is using more motor units



27) The connective tissue wrapping that surrounds EACH muscle fiber is the ___________

a) endomysium
b) perimysium
c) epimysium
d) periosteum
e) periochondrium



28) The "plateau" that is observed on a graph depicting constant muscle contraction is called_________

a) muscle twitch
b) wave summation
c) tetanus
d) fatigue



29) When muscle tension is less than the load on a muscle a _______________ contraction occurs

a) isotonic
b) isometric
c) isomarginal
d) isobaric



30) When creatine phosphate levels of ATP run out what is the next source of ATP production?

a) aerobic metabolism
b) anerobic metabolism
c) myoglobin phosphate
d) homglobin stocks
e) cellular



31) The muscle type that is involuntary, uninuclerated and has slow contractions is __________ 

a) skeletal
b) cardiac
c) smooth
d) intercalated



32) Which of this NOT a function of muscle tissue

a) motion of your legs up a flight of stairs to class
b) generation of heat for the body
c) keeps the poop in your rectum
d) production site of hormones
e) stabilize body position



33) The quadriceps muscles are an example of _____________ muscles.

a) synergist
b) antagonist
c) fluxator
d) secondary mover
e) agonist



34) The rhomboid muscles are named because of their _____________

a) shapes
b) sizes
c) number of insertions
d) locations
e) direction of muscle fibers



35) The mylohyoid muscle indicates that the hyboid is the ________________

a) bone that serves as a fulcrum
b) origin
c) insertion
d) joint that serves as a lever
e) none of the above



PART 2. MATCHING SELECT THE BEST NUMBER FOR EACH, 2 PTS EACH; (20 PTS) 

	51) syndesmoses
52) synchondroses
53) pivotal
54) condyloid
55) gliding
56) symphysis
57) suture
58) synostosis
59) hinge
60) ball and socket
	1) example would be the epiphyeal seal
2) synovial joint without articular capsule
3) joint that is biaxial
4) joint that only does rotation
5) example would be the epiphyseal plate
6) fibrous and amphiarthrotic
7) fibrous and synarthrotic
8) synovial and triaxial
9) joint between vertebrae and their discs
10) joint found between the carpals
11) synovial joint that ONLY allows flexion and extension




PART 3. DISCUSSION QUESTION (10 pts)
1) Fill in the blanks about the sliding filament theory: 

An electrical impulse comes down the ____________. The _____________ releases _________
that crosses the _____________ to the ________________.

A new impulse travels to the _____________, which "shocks" the ____________ which releases _________.

Calcium attaches to ______________, which pulls off _____________, leaving __________ naked!!!!

_______________ attaches - pulls and releases using _____________. 

